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V0000093 AELI2-0 m 1 070615
0-0064 EgEE DIPA00 DP=1.81m

EEIE H=2.34 SBEHXIE H3.0 28
V0000094 AELXT2-D m 1 070615
0-0065 EEEE DIPA00 DP=1.30m

EEIE H-1.83 SBEHXIE H=2.5 18
V0000095 AEXI2-0 (KELI) m 1 070615
0-0066 EgEE DIPA00 DP=1.72m

EEIE H=2.25 SEHEIE H3.0 28
V0000096 AEXTI2-0 (KELI) m 1 070615
0-0067 EEEE DIPA00 DP=1.20m

BEIE H-1.73 SSHEEE H=2.0 18
V0000097 AELT2-0 m 1 070615
0-0068 BE4E DIPA00 DP=1.20m

BEIE H-1.73 SSHEEE H=2.0 18
V000011 FiEELT4-D m 1 070615
0-0078 Eg&EE DIP200 DP=1.72m

BEIE H=2.25 SEHEIE H=2.5 28
V000013 BREELIND m 1 070615
0-0100 E&453E DIPA00 DP=0.71m

EEIE H=0.93 HSHEE H2.0 1B
20250000006 = [}

ERE




BHREILEMm—ER E0-0165

Bffia—FK BB - K1 - Bk 2 B of HEHE % # BfEmRA
£EE B
V10001 M ERkEHRE T 5l 1 070615
0-0101 $400 DIP RREfET
V100011 BT 5l 1 070615
0-0102 $400 DIP
V100012 KERBRE Bl 1 070615
0-0103 $400 DIP
V10002 MEMBESERET 5l 1 070615
0-0104 $400 DIP RREfET
V0000101 AELIT-D m 1 070615
0-0105 Bi#E%5E DIPA00 DP=1.20m

fEEIE H=1.83 BEM%iR H=2.5 18
V0000102 | RE+T3-Q m 1 070615
0-0106 HEEE DIP400 DP=1.20m

EIE H=1.83 BEM%iR H=2.5 18
V0000103 | K&+ T3-Q m 1 070615
0-0107 HESE DIP400 DP=1.20m

fEIE H=1.83 BEM%iR H=2.5 18
V0000104 | XELT3-@ (HEHKEEE) m 1 070615
0-0108 HEEE DIP400 DP=1.20m

fEEIE H=1.83 BEM%iR H=2.5 18
V0000105 | XELI3-O (HEHKEEE) m 1 070615
0-0109 HESE DIP400 DP=1.20m

fEEIE H=1.83 BEM%iR H=2.5 18
V0000106 | XELT3-O (MHEMH i) m 1 070615
0-0110 HESE DIP400 DP=1.20m

fEEIE H=1.83 BEM%iR H=2.5 18
V50011 FEkLI6-D i 1 070615
0-0112 WEEE FHAI

DP=2.045 H=3.121
V50012 KL I6-2 i 1 070615
0-0120 RESE THKT

DP=1.200 H=2.276
V600002 yE LA N 7% 1 070615
0-0121 2R
V40002 BEMXREH - B4 7% 1 070615
0-0126 LSP1,2, 3% 1808 (64 A LIR)

H=1.5m~3.5m
20250000006 = B 2}

ERE




o8 M B OF
A RAK B TR LR F TR (KB HX) T

el

1. EEARER L

@D DCIP(GXE) ¢ 400 fi TH#EE L= 524.9 m
(524. 905)
@ DCIP(GXE) ¢ 200 TR L= 2.4 m
(2. 360)
PEREA R (L&)
@ DCIP(GXE) ¢ 100 TR L= 2.4 m
(4. 360-1. 928=2. 432)
O HI-VP ¢ 100 MTHEE L= 1.9 m
(1. 128+. 400+0. 400=1. 928)
W~ — 2 — (#) (B mi, i, dhihriE) 18 f&ifT
2. RWKT
KWIAKIERA—& U — L7 ¢ 400X 400 2.0 f&EAT
TR A F 6400 (KJBBERRE A b v /i) 2.0 f&EFT
3. ZERIrEkTE L
RN 2.0 f&HAT

IKAEFERR B T .o =

At =R E T 1.0 =X

BERRE (KTB) ¢ 400 ETHER L= 234.1 m
(234. 106)
it s A R 4 41 fi#
M A & i 12 14
AREIE i R Sl N 2
2R T T O R— M A 1 &
WERA 7 v oV R— bR 1 &
FRFHE T 7 v O A— LR 2 1
B~ —— (F) 11 1
(M ALE ., #E)



1. BoEAfiex L

@

CXEH 7 2 A eGSR ¢ 400

O GXFEX 7 2 A NVEEERE ¢ 200
HRRE AR

D GXIEHX 7 Z A VEEE ¢ 100

O HI-VP ¢ 100

MG KA PR

LSERELIIEES

(AE T EEIEH =2. 48m (H=2. 481m)
pP=1.955m W=1. 00 #ff 10cm

A+ T EHIRH =1. 08m (H=1. 082m)
pP=0.556m W=1. 00 #ff 10cm

AT HHEIRH=2. 43m (H=2. 426m)
DP=1.90m W=1. 00 ##A 10cm

A+ T HEEIEH=3. 15m (H=3. 152m)
DP=2.63m W=1. 00 ##A 10cm

| A% T REIEH =1. 73m (H=1. 726m)
DP=1.20m W=1.00 #ffi 10cm

TS T EHIEH=1. 73m (H=1. 726m)
DP=1.20m W=1.00 As=4cm

AT HHIEH=1. 86m (H=1. 856m)
DP=1.32m W=1.00 As=4cm

A% T HHIZEH=2. 00m (H=2. 004m)
DP=1.47m W=1.00 As=4cm

A% 4T HHIEH=2. 76m (H=2. 756m)
DP=2.23m W=1.00 As=4cm

A%+ T HHIEH=2. 76m (H=2. 756m)
DP=2.23m W=1.00 As=10cm

AT HHIEH=2. 34m (H=2. 341m)
DP=1.81m W=1.00 As=10cm

AT HHIZEH=1.83m (H=1. 826m)
DP=1.30m W=1.00 As=10cm

AT HHIEH =2. 25m (H=2. 246m)
DP=1.72m W=1.00 As=10cm

AT HHIEH=1. 73m (H=1. 726m)
DP=1.20m W=1.00 As=10cm

i T4ER L= 503.5 m
ffRiER L= 522.9 m
(524. 905-0. 50 X 4=522. 905)

i TAER L= 2.4
kiR L= 2.4
(2. 360)
i TAER L= 2.4
gkt L= 1.9
(2.432-0.490=1.9
i TAER L= 1.9
gkt L= 1.9
(1.928)
GXJE 400 L= 8.64
(BRiE)
GXJE ¢ 400 L= 6. 40
(BRiE)
GXJE ¢ 400 L. = 19. 05
(BRiE)
CXJE ¢400 L= 7.06
(BRiE)
GXJZ ¢ 400 1. = 180. 60
(FRiE)
GXIE ¢ 400 L= 2.70
CHit H A
GXJE ¢ 400 L. = 10. 36
CHit H A
GXTE ¢ 400 L. = 20. 06
CHit H A
GXE 400 L= 0.94
CHit H A
GXIE 400 L= 7.43
(Fa5)
GXJE ¢ 400 L. = 58. 81
(Fa5)
GXJE ¢ 400 L. = 59. 58
(Fa5)
GXTE ¢ 400 L= 12.51
(Fa5)
GXJEZ ¢ 400 1L = 125.34

(J1E)

42

m
m
)

8 B



AELT EIEH=1.73m (H=1. 726m) GX}¥ $400 L= 2.09 m
DP=1.20m W=1.00 As=3cm (HH)

| AE LT EHIEH=1.83m (H=1. 826m) KJF ¢ 400 L= 14.30 m
pP=1.20m W=1.00 As=3cm (#3E)  (18.80-0.90X5)

AE T HEIEH=1.83m (H=1. 826m) K% ¢ 400 L. = 163.21 m
DP=1.20m W=1.00 As=4cm (fH1E)  (234.106-14.3-5.3-31. 5-5. 4-14. 4)

AE T HEIEH=1.83m (H=1.826m) KFZ $400 L= 5.30 m
DP=1.20m W=1.00 As=3cm (F3E) (6. 20-0. 90)

w4 AR T IEHIEH=1.83m (H=1. 826m) KJF ¢ 400 L = 31.50 m
IHP2EH | Gsaen) DP=1.20m W=1.50 As=4cm (ThiE) (0. 90 35)

AE LT HEIEH=1.83m (H=1.826m) KFZ $ 400 L= 5.40 m
(48 DP=1.20m W=1.50 As=3cm (FH) (0. 90 X6)

AT HHIEH=1.83m (H=1.826m) KF¥ ¢ 400 L= 14.40 m
(=#) DP=1.20m W=1.40 As=4cm (EE) (1.20X12)

syl T HEEHIEH =2. 25m (H=2. 246m) GX}¥ $200 L= 1.82 m
A DP=1.72m W=1.00 As=10cm  (JRiH)
PR+ JEHIEH =0.93m (H=0.93m) ¢ 100 L= 3.19 m
DP=0.71m W=1.00 As=3cm (i)



. ElEA R

i ] 7 H B = &= B
(OREER)
GXIE X 7 % A NEFEEAE| ¢ 400 X6, 000 L 67 AN
GXIE X 7 % A NEFEEAE] ¢ 400 X6, 000 L 17 AN
(W& 1R
GXJE5 5/8ihE | ¢ 400 (=) 1 &
GXIE11° 1/4b% [ ¢ 400 (=) 7 &
GXIE22° 1/2#h% [ ¢ 400 (=) 8 &
GXJE22° 1/2mizzh’E | ¢ 400 (=) 10 1
GXJz4a5° gh& | ¢ 400 (=) 2 ]
GXJZ90° Eh& [ ¢ 400 (=) 1 ]
INE T T A )T |GXIE ¢ 400 (#i%Z) 4 &
(1752)
7T R ETFREGXIE ¢ 400 X 75 G2 2 11&
(Z2 &It H)
— =TT GXFZ ¢ 400 X 300 (=) 1 &
HEK T 5% GXFZ ¢ 400 X 150 (#i%Z) 1 I
kX i GXJE ¢ 400 (%) 2 I
BiE HERRE  (KIE ¢ 400) 4 &
GXHZ A4 F— |¢400 15 &
OB RFE LD Y > 2| ¢ 400 35 {i#]
GXH A EN ¢ 400 59 HH
R E H =625~885 4 #H.
(RNEZ 75440 R Eate
Hibe = 1% FlL—r Ty NE® L=1.00m X 1. L=0.80m X 1 1 i
(R E0 i) |V P 400, 1=4.00m  [L70-50mx2
2 7N
) ik B LUFE| L=0.50m
1 7N
)ik B LFE| L=0.70m
1 7N
)ik B L] L=1.00m
ik~ — A — (7) 18 &




Fii ] g H & N N B

(oI i B 1)

GXE & 7 # A ks | ¢ 200 X5, 000 L L=0. 77m A

(&R 1R (Z81%)

GXTAd L3z V& | ¢ 300 X200 T

GXIE90° Hh’& $ 200 &

GU 7 $ 200 &
GXFIEEEHAEE [ ¢ 200 {5
GXH AT $ 300 78

(HEPE T)

GXJAH Lz v | ¢ 150 X 100 I

GXJZ45° % | ¢ 100 &

CXFE Y 7~ v—At)Fr| ¢ 100 1
CXIE 4 7 % A VB ¢ 100 X 4, 000 L 1=0. 77m A

(B 1) (Z8%)

Ve a A > b $ 100 I
Eﬁi%{ﬁﬂﬁ t\\:ﬂ/% VP ¢ 100X 4, 000 L L=1.128m., L=0.40m X2 2|§
(FL—r -z FEE)

TS=/LAR (VP) $ 100 &
DIPZ $ 100 I
GXHEEEE M | ¢ 150 7]
GXHEEEE A | ¢ 100 7]

- E H=455~655 HH

R,




il il 5 B = B B[ B Ofr
(AHR TER
CXIE & 7 4 A NgEeRE | ¢ 400 A 524.9 m
gk T
CXIE & 7 4 A NgEeRE | ¢ 400 A 32 ]
)k T
YT $ 400 A 35 1% it
HUpaE ® 400 A 4 I
HUREXETLT [Eaxate A 4 i
(H=625~885)
meEek T | ¢ 400 4 W
(GROEN A hAUED!
GXfk T T ¢ 400 81 =5
(B
GXfk T 1. ¢ 400 59 =5
(BIEEE) A s
Ry zFLo2)—7wBT| ¢ 400 524.9 m
B RT — TR T 924.9 m
Ry — MR L 524.9 m




i ] 7 B = Bo&= | BOAfL
(S Iz 5% B kD
GXJE &7 5 A VE8E | ¢ 200 2.4 m
i L
GXE & 77 2 A VikEEE | ¢ 200 1 H
B T
GXHEF T ¢ 200 3 1% it
(BIEE) PeE T sn
GXHEF T ¢ 300 1 1% it
(BIEE) PeE e
GV v Z7#FET |¢200 1 1 P
Ry zFLo2)—7wBT| ¢ 200 2.4 m
BHRT — 7B LT 2.4 m
Ry — MR L 2.4 m
(HEJRE TR
CXE 4 7 5 A VEERE | ¢ 100 2.43 2.4 m
e L
iﬁt“%%ﬁ%&“l ¢ 100 1.928 1.9 m
e L
5y 5 A VAT | ¢ 100 0. 770 1 W
BBk LT [ 100 1.128. 0.400. 0.400 3 ]
GXJE Y 7 ki —)b [ 100 1 A
(-8 Fp & T
A UAFPERRE L 1 & A
GXHkT T ® 100 4 & AT
(BIEEE) A H
GXHkT T ® 150 1 & AT
(BIEEE) A H
GU Y Z7/FT [o100 1 & AT
A F =T ViETF 1| ¢ 100 1 & P
(i & B BEBs 1k 4 F)
RR#EF T ¢ 100 1 &1 AT
(VCY" 34/})
RYzFLoxy—7HHET| ¢ 100 2.4 m
TR — 7 EUT T 2.4 m
Ry — MR L 2.4 m




+ T £ 5 &

K& + T

BE R T

FRIE AR - PR ()

VLIBT3

I8 TREF(E HIR2 Sk

WO AT THRAR

¢ 400 ¢ 400 ¢ 400 & 2000E%) | ¢ 100(HETE) A =
DP=1.955m | DP=0.556m | DP=1.90m | DP=2.63m | DP=1.20m | DP=1.20m | DP=1.32m | DP=1.47m | DP=2.23m | DP=2.23m | DP=1.81m | DP=1.30m | DP=1.72m | DP=1.20m | DP=1.20m 2'1)::11523(:; DP=1.20m | DP=1.20m ?;:ﬁ::; ?;:ﬁ::; ?Ef:::)‘ AN DP=1.72m | DP=0.71m JNE A
(H=2.48m) (H=1.08m) (H=2.43m) (H=3.15m) (H=1.73m) (H=1.73m) (H=1.85m) (H=2.00m) (H=2.76m) (H=2.76m) (H=2.34m) (H=1.83m) (H=2.25m) (H=1.73m) (H=1.73m) [L%ié%ﬁiﬁ] (11=1.83m) (11=1.83m) (?W?ﬁéi) (*W?ﬁéi) (fﬂ%%‘ﬁ) (H=2.25m) (H=0.93m) R
W=1.00m [ W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m [ W=1.00m | W=1.00m | W=1.00m [ W=1.50m | W=1.50m | W=1.40m W=1.00m [ W=1.00m
TR 8.64m| 6.40m| 19.05m| 7.06m|180.60m| 2.70m| 10.36m| 20.06m| 0.94m| 7.43m| 58.81m| 59.58m| 12.51m|125.34m| 2.09m| 14.30m|163.21m| 5.30m| 31.50m| 5.40m| 14.40m| 755.68 m| 1.82m| 3.19m| 5.01 m | 760.69 m
AsHiiZEEIHr t=3cm - - - - - - - - - - - - = 4.18 | 28.60 - 10.60 -] 10.80 | 28.80 | 82.98 m -1 6.38 6.38 m] 89.4 m
AsEiZE O t=4cm - - - - -| 5.40| 20.72] 40.12 1.88 - - - - - -] 326.42 -1 63.00 - -1457.54 m - -| 0.00 m]457.54 m
AstEZE G t=10cm - - - - - - - - -| 14.86 | 117.62 ] 119.16 | 25.02 | 250.68 - - - - - - -1527.34 m 3.64 -| 3.64 m]530.98 m
AsEliZE U t=3cm - - - - - - = = = = = - - 2.1 14.3 - 5.3 - 8.1 20.2 50.0 m2 - 3.2 3.20 m2] 53.2 m2
AsHiiZEIUE t=4cn - - - - - 2.7 10.4 20.1 0.9 - - - - - -| 163.2 -1 47.3 - -| 244.6 m2 - - 0.0 m2] 244.6 m2
AsEi#EBUE t=10cm] - - - - - - = = = 7.4 58.8 59.6 12.5] 125.3 - - - - - - -] 263.6 m2 1.8 - 1.8 m2] 265.4 m2
Asii i - - - - - 0.1 0.4 0.8 0.04 0.7 5.9 6.0 1.3 12.5 0.1 0.4 6.5 0.2 1.9 0.2 0.6 ] 37.64 m3 0.2 0.1 0.3 m3] 37.9 m3
AsPEFEALER - - - - - 0.3 1.0 1.9 0.1 1.7 13.8 14.0 2.9 29.5 0.1 1.0 15.3 0.4 4.4 0.6 1.4 88.4 t 0.4 0.2 0.6 t 89.0 t
FEBUA IR 21.5 7.0]  46.3 22.3 ] 3124 4.6 18.8 39.3 2.6 19.8 ] 131.7] 103.1 26.9 ] 204.3 3.6 25.7 ] 292.1 9.5 84.6 14.6 36.3 11427.0 m3 3.5 2.9 6.4 m3]1433.4 m3
A (11AD) 5.1 3.7 11.2 4.1 1 106.1 1.6 6.1 11.8 0.6 4.4 34.6 35.0 7.3 73.6 1.2 9.8 112.2 3.6 34.7 6.0 14.7 | 487.4 m3 0.5 1.3 1.8 m3] 489.2 m3
HR () 14.3 1.71 30.5 16.4] 162.5 1.8 8.2 18.9 1.6 10.6 59.4 29.8 11.5 50.1 1.8 12.4 ] 109.4 4.6 31.7 7.0 17.5 | 601.7 m3 2.0 1.2 3.2 m3] 604.9 m3
FeheAr (t=10cm) 8.6 6.4] 19.1 7.1 180.6 - = = = = = = = - - - - - - - -| 221.8 m2 - - 0.0 m2] 221.8 m2
AT T (t=19cm) - - - - - 2.7 10.4 20.1 0.9 = = = = - - - - - - - -1 34.1 m2 - - 0.0 m2] 34.1 m2
HATE AR T (t=10cm) - - - - - - - - - - - - - - 2.1 14.3 - 5.3 - 8.1 20.2 50.0 m2 - 3.2 3.2 m2] 53.2 m2
TJE R (t=35cm) - - - - - - - - - 7.4 58.8 59.6 12.5] 125.3 - - - - - - -] 263.6 m2 1.8 - 1.8 m2] 265.4 m2
TJE A (t=19cm) - - - - - - - - - - - - - - - -1 163.2 -1 47.3 - -1 210.5 m2 - - 0.0 m2] 210.5 m2
g A (1=20cm) - - - - - - - - - 7.4 58.8 59.6 12.5] 125.3 - - - - - - -] 263.6 m2 1.8 - 1.8 m2] 265.4 m2
g A (1=10cm) - - - - - 2.7 10.4 20.1 0.9 = = = = - - -] 163.2 -1 47.3 - -| 244.6 m2 - - 0.0 m2] 244.6 m2
A8 IR Efi%E (t=4cm) - - - - - 2.7 10.4 20.1 0.9 = = = = - - -] 163.2 -1 47.3 - -| 244.6 m2 1.8 - 1.8 m2] 246.4 m2
A8 IR &% (t=5cm) 7.4 58.8 59.6 12.5] 125.3 263.6 m2 0.0 m2] 263.6 m2
AR IH A (L=3cn) - - - - - - - - - - - - - - 2.1 14.3 - 5.3 - 8.1 20.2 50.0 m2 - 3.2 3.2 m2] 53.2 m2
53 + 21.5 7.0l 46.3 22.3 ] 3124 4.6 18.8 39.3 2.6 19.8] 131.7] 103.1 26.9 ] 204.3 3.6 25.7 | 292.1 9.5 84.6 14.6 36.3 11427.0 m3 3.5 2.9 6.4 m3]1433.4 m3
EEL - 6.4 - - - - = = = = = = = - - - - - - - -l 6.40 m - -l 0.00 m] 6.40 m
HE% B R T B T
(H=1.50m, 1£%) - - - - - - - - - - - - - - - - - - - - - 0.00 m -1 3.19 3.19 m] 3.19 m
HE% B R T B T
(H=2.00m, 1B%) - - - —| 180.60 2.70 - = = = = = -1 125.34 2.09 - - - - - -1310.73 m - -] 0.00 m]310.73 m
HE% B SR T B T
(H=2.50m, 1B%) - - - - - -1 10.36 | 20.06 = = -] 59.58 = - -] 14.30 | 163.21 5.30 | 31.50 5.40 | 14.40]324.11 m - -l 0.00 m]324.11 m
33PN
(H=2.50m. 28%) = = = = = = = = = = = -1 12.51 - - - - - - - -| 12.51 m 1.82 -l 1.82 m|] 14.33 m
33PN
(H=3.00m. 28%) 8.64 -1 19.05 = - - = -1 0.94 7.43 ] 58.81 = = - - - - - - - -] 94.87 m - -] 0.00 m] 94.87 m
33PN
(H=3.50m, 2£%) - - -1 7.06 - - - - - - - - - - - - - - - - -] 7.06 m - -1 0.00 m 7.06 m
33PN
(H=4.00m, 3£%) - - - - - - - - - - - - - - - - - - - - - 0.00 m - - 0.00 m] 0.00 m




EREWL S ERE MR

A B8 - HEe T
MR KA - 2RI (FLE) VRE TR 1i3E TREHE HIR2 5 VA JUHT )16
¢ 400 ¢ 400 ¢ 400 ¢ 2000531 | ¢ L00(HEE) A~ =
DP=1.955m | DP=0.556m | DP=1.90m | DP=2.63m | DP=1.20m [ DP=1.20m | DP=1.32m | DP=1.47m | DP=2.23m | DP=2.23m | DP=1.81m | DP=1.30m | DP=1.72m | DP=1.20m | DP=1.20m | DP=1.20m | DP=1.20m | DP=1.20m '2::11453:3 '2::11453:3 ?:;lgr’n”)‘ /INEE DP=1.72m | DP=0.71m N2 o
(H=2.48m) (H=1.08m) (H=2.43m) (H=3.15m) (H=1.73m) (H=1.73m) (H=1.85m) (H=2.00m) (H=2.76m) (H=2.76m) (H=2.34m) (H=1.83m) (H=2.25m) (H=1.73m) (H=1.73m) (H=1.83m) (H=1.83m) (H=1.83m) Cima ) | GlisaR) G ) (H=2.25m) (H=0.93m) R
W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.00m | W=1.50m | W=1.50m | W=1.40m W=1.00m | W=1.00m
IE 8.64m| 6.40m| 19.05m| 7.06m|180.60m| 2.70m| 10.36m| 20.06m| 0.94m| 7.43m| 58.81m| 59.58m| 12.51m|125.34m| 2.09m| 14.30m|163.21m| 5.30m| 31.50m| 5.40m| 14.40m]| 755.68 m| 1.82m| 3.19m| 5.01 m ] 760.69 m
AsElZEDIHET t=3cm - - - - - - - - - 4.18] 28.60 10.60 10.80 | 28.80 | 82.98 m - 6.38 6.38 m 89.4 m
AsEliZEDIHT t=4cm - - 5.40 | 20.72 [ 40.12 1.88 - - - 326.42 63.00 457.54 m - - m|457.54 m
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WO Iv B T 1.00 X 1.0 1. 0000 m?2
As 7 7 #E ] 1.00 X 0.10 X 1.0 0. 1000 m3
PE BE A FE[1.00 X 0.10 X 2.35 X 1.0 0. 2350 t
& M R JE[1.00 X 2.15 X 1.0 2. 1500 m3
W B R IL[1.00 X 0.73 - 0.1425 X 1.0 0. 5875 m3
E’% O T 1.00 X 0.92 X 1.0 0. 9200 m3
T oE K T 1. 00 X 1.0 1. 0000 m?2
BoJE B’ T 1. 00 X 1.0 1. 0000 m?2
K 1& [§] T| 1.00 X 1.0 1. 0000 m2
o+ A B T[1.00 X 2.15 X 1.0 2. 1500 m3
¢ 400 JKIEE QWA= 0.785X0.426 " 2= 0. 1425
(I s T T4 = 1.72
(RS ST ) 2468 BRE= ¢ 400 AL THER = 12.51
il il TH H ¥ B | B
HoO¥% o9 W L t =10cm 12.51 X 2.0000 25. 02 m
ik B BT t =10cm 12.51 X 1.0000 12.5 m2
As T HE Kk 12.51 X 0.1000 1.3 m3
T | As 12.51 X 0.2350 2.9 t
B M IR W T 12.51 X 2.1500 26.9 m3
i} = T i 12.51 X 0.5875 7.3 m3
H I T UhAEAT C-40 12.51 X 0.9200 11.5 m3
DERERE S T| YhA#f t=35cm 12.51 X 1.0000 12.5 m2
IS = T| KA t=20cm 12.51 X 1.0000 12.5 m2
& IH T| FAHLRIEA s 20 t=5cm | 12.51 X 1.0000 12.5 m2
B 0+ A& BT 12.51 X 2.1500 26. 9 m3




E T TH0 = 1.20 BrE= 400 | [JEHIE= 1.00 |
(EoE TR B = 0. 10 (REIHE=_0.05 | A% TR = 125.34 |
LRERE=_ 0. 20
_ ThiEAE— 0. 35
T e Im%y | M fi
(= 1)
HWO¥ o9 W L 1.0 X 2 2. 0000 m
WO Iv B T 1.00 X 1.0 1. 0000 m?2
As 7 7 #E ] 1.00 X 0.10 X 1.0 0. 1000 m3
PE BE A FE[1.00 X 0.10 X 2.35 X 1.0 0. 2350 t
& M R JE[1.00 X 1.63 X 1.0 1. 6300 m3
W B R IL[1.00 X 0.73 - 0.1425 X 1.0 0. 5875 m3
E’% HoOR T 1.00 X 0.40 X 1.0 0. 4000 m3
T oE K T 1. 00 X 1.0 1. 0000 m?2
BoJE B’ T 1. 00 X 1.0 1. 0000 m?2
K 1& [§] T| 1.00 X 1.0 1. 0000 m2
0+ A& # T[1.00 X 1.63 X 1.0 1. 6300 m3
¢ 400 JKIEE QWA= 0.785X0.426 " 2= 0. 1425
(I s T T4 = 1.20
(RS ST ) 2468 BRE= ¢ 400 AE L THER = 125. 34
il il TH H ¥ B | B
HoO¥% o9 W L t =10cm 125.34 X 2.0000 250. 68 m
ik B BT t =10cm 125.34 X 1.0000 125.3 m2
As A T E R 125.34 X 0.1000 12.5 m3
T | As 125.34 X 0.2350 29.5 t
B M IR W T 125.34 X 1.6300 204. 3 m3
i} = T i 125.34 X 0.5875 73.6 m3
H = T UliAthf C-40 125.34 X 0.4000 50. 1 m3
DERERE S T| YhiA#ef  t=35cm  [125.34 X 1.0000 125.3 m?2
IS = T|  Kig#fs  t=20ecm  [125.34 X 1.0000 125. 3 m?2
& IH T| FFAHLRIEA s 20 t =5cm [125.34 X 1. 0000 125.3 m2
% 0+ 4 BT 125.34 X 1.6300 204. 3 m3




Pt T TH 0 = 1.20 BrE= 400 | [JEHIE= 1.00 |
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WO 9 W L 1.0 2 2. 0000 m
HiOE He BE O T[1.00 1.0 1. 0000 m2
As 7 7 #E {fiik] 1.00 X 0.03 1.0 0. 0300 m3
PE BE AL FE[1.00 X 0.03 X 2.35 X 1.0 0. 0705 t
& M K e[ 1.00 X 1.70 1.0 1. 7000 m3
W M ®E  T[1.00 X 0.73 - 0.1425 1.0 0. 5875 m3
e 4 # R T 1.00 X 0.87 1.0 0. 8700 m3
HoE K T[] 1. 00 1.0 1. 0000 m2
BoJE B’ T| 1.00 0.0 0. 0000 m2
" & [§] 1| 1.00 1.0 1. 0000 m2
o+ A # T[1.00 X 1.70 1.0 1. 7000 m3

6400 AGEE OWiEFE= 0.785X0.426 2= 0.1425
(I Pele T T4 = 1.20
(S JFUNT 1| (B3 BEE= ¢ 400 RE+THER = 2.09

fii il TH H K O& | B ff
oo 9 W L t =3cm 2. 09 2. 0000 4. 18 m
ik B BT t =3cm 2.09 1. 0000 2.1 m2
As T 7 E R 2. 09 0. 0300 0.1 m3
T | As 2. 09 0. 0705 0.1 t
B B R T 2.09 1. 7000 3.6 m3
H = T i 2.09 0. 5875 1.2 m3
g R T UhiAMA C-40 2. 09 0. 8700 1.8 m3
HE K T  YhAtf t=10cm 2. 09 1. 0000 2.1 m2
IS = T Kigiff t=0cm 2. 09 0. 0000 0.0 m?2
& [§] T| EAEMRIEAS 13 t=3cm| 2.09 1. 0000 2.1 m2
B 0+ A& BT 2. 09 1. 7000 3.6 m3




AELT T = 1.20 BE= 0400 | |#EHIE= 1.00 |

(BT {RAE) (iR = 0.03 RAEIHE=_0.03 | AL TIER = 14.30 |
LREEE=0.00
_ gz~ 0. 10

T e Im%y | M fi

(= 1)
HWO¥ o9 W L 1.0 X 2 2. 0000 m
HiOE He BE O T[1.00 X 1.0 1. 0000 m2
As 7 7 #E {fiik] 1.00 X 0.03 X 1.0 0. 0300 m3
PE BE AL FE[1.00 X 0.03 X 2.35 X 1.0 0. 0705 t
& M R JE[1.00 X 1.80 X 1.0 1. 8000 m3
W B &E  L[1.00 X 0.83 - 0.1425 X 1.0 0. 6875 m3
e M R T 1.00 X 0.87 X 1.0 0. 8700 m3
HoE B M T 1.00 X 1.0 1. 0000 m?2
= B O A T[1.00 X 0.0 0. 0000 m?2
i & IH T| 1.00 X 1.0 1. 0000 m?2
o+ Av B T[1.00 X 1.80 X 1.0 1. 8000 m3

¢ 400 AGEE OWiEFE = 0.785X0.426 2= 0.1425
(+ ) AE T T#0 = 1.20
USHRIIBRAE = ¢ 400 AE L THER = 14. 30

fili il H E ¥ o= | B O
WO 9 W L t =3cm 14.30 X 2.0000 28. 60 m
WO v o T t =3cm 14.30 X 1.0000 14.3 m?2
As T T E#E ik 14.30 X 0.0300 0.4 m3
pE BE A B As 14.30 X 0.0705 1.0 t
B M oK H T 14.30 X 1.8000 25.7 m3
i R T [ 14.30 X 0.6875 9.8 m3
H B T Ui C-40 14.30 X 0.8700 12. 4 m3
HoE B T| UhAKEA  t=10cm 14.30 X 1.0000 14. 3 m2
= s Risitfi ¢ =0cm 14.30 X 0.0000 0.0 m?2
18 [ T| FAARIEEA s 13 t=3cm | 14.30 X 1.0000 14.3 m?2
B O+ A& B T 14.30 X 1.8000 25.7 m3
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(+ 1)
HWO¥ o9 W L 1.0 X 2 2. 0000 m
HiOE He BE O T[1.00 X 1.0 1. 0000 m2
As 7 #E | 1.00 X 0.04 X 1.0 0. 0400 m3
PE BE A FE[1.00 X 0.04 X 2.35 X 1.0 0. 0940 t
& M K JE[1.00 X 1.79 X 1.0 1. 7900 m3
W B &R IL[1.00 X 0.83 - 0.1425 X 1.0 0. 6875 m3
f: R T[1.00 X 0.67 X 1.0 0. 6700 m3
T B o R T[1.00 X 1.0 1. 0000 m?2
= B O A T[1.00 X 1.0 1. 0000 m?2
i & IH T| 1.00 X 1.0 1. 0000 m?2
% 0+ @ B OT[1.00 X 1.79 X 1.0 1. 7900 m3

¢ 400 AGEE OWiEFE = 0.785X0.426 2= 0.1425
(+ ) AE LT T#0 = 1.20
CBERSHTIREE R = ¢ 400 AR 1 THER = 163. 21

fili il H E #Ho& | B A7
WO 9 W L t =4cm 163.21 X 2.0000 326. 42 m
WO v o T t =4cm 163.21 X 1.0000 163. 2 m?2
As T T E#E ik 163.21 X 0.0400 6.5 m3
pE BE A B As 163.21 X 0.0940 15.3 t
B M oK H T 163.21 X 1.7900 292. 1 m3
i R T [ 163.21 X 0.6875 112.2 m3
H B T Ui C-40 163. 21 0. 6700 109. 4 m3
DR T| UhA#EG  t=19cm  |163.21 1. 0000 163. 2 m?2
F B ¥ M T RFAMEA t=10cm  [163.21 1. 0000 163. 2 m?2
18 [ T| FAZRIEA s 13 t =4cm |163. 21 1. 0000 163. 2 m?2
B O+ A& B T 163. 21 1. 7900 292. 1 m3
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HWO¥ o9 W L 1.0 X 2 2. 0000 m
HiOE He BE O T[1.00 X 1.0 1. 0000 m2
As 7 7 #E {fiik] 1.00 X 0.03 X 1.0 0. 0300 m3
PE BE AL FE[1.00 X 0.03 X 2.35 X 1.0 0. 0705 t
& M R JE[1.00 X 1.80 X 1.0 1. 8000 m3
W B &R IL[1.00 X 0.83 - 0.1425 X 1.0 0. 6875 m3
e M R T 1.00 X 0.87 X 1.0 0. 8700 m3
HoE B M T 1.00 X 1.0 1. 0000 m?2
= B O A T[1.00 X 0.0 0. 0000 m?2
i & IH T| 1.00 X 1.0 1. 0000 m?2
o+ Av B T[1.00 X 1.80 X 1.0 1. 8000 m3
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B4 W ¥ T t =3cm 5.30 X 1.0000 5.3 m?2
As T T E#E ik 5.30 X 0.0300 0.2 m3
pE BE A B As 5.30 X 0.0705 0.4 t
B M oK H T 5.30 X 1.8000 9.5 m3
i B T [ 5.30 X 0.6875 3.6 m3
H B T Ui C-40 5.30 X 0.8700 4.6 m3
HoE B T| UhAKEA  t=10cm 5.30 X 1.0000 5.3 m2
= s Risitfi ¢ =0cm 5.30 X 0.0000 0.0 m?2
18 [ T| FAEARIEA s 13 t=3cm | 5.30 X 1.0000 5.3 m?2
B O+ A& B T 5.30 X 1.8000 9.5 m3
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As 7 #E | 1.50 X 0.04 X 1.0 0. 0600 m3
PE BE AL FE[1.50 X 0.04 X 2.35 X 1.0 0. 1410 t
& M K JE[1.50 X 1.79 X 1.0 2. 6850 m3
W # &K TL[1.50 X 0.83 - 0.1425 X 1.0 1. 1025 m3
f: R T[1.50 X 0.67 X 1.0 1. 0050 m3
T B B R T[1.50 X 1.0 1. 5000 m?2
= B K A T[1.50 X 1.0 1. 5000 m?2
i & IH T| 1.50 X 1.0 1. 5000 m?2
% 0+ @ B T[1.50 X 1.79 X 1.0 2. 6850 m3
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WO 9 W L t =4cm 31.50 X 2.0000 63. 00 m
WO v o T t =4cm 31.50 X 1.5000 47.3 m?2
As T T E#E ik 31.50 X 0.0600 1.9 m3
pE BE A B As 31.50 X 0.1410 4. 4 t
B M oK H T 31.50 X 2.6850 84. 6 m3
i R T [ 31.50 X 1.1025 34.7 m3
H B T Ui C-40 31. 50 1. 0050 31.7 m3
DR T A t=19cm 31.50 1. 5000 47.3 m?2
B ¥ % I kR#n t=10cm 31. 50 1. 5000 47.3 m?2
18 [ T| FAEZRIEA s 13 t =4cm | 31.50 1. 5000 47.3 m?2
B O+ A& B T 31. 50 2. 6850 84. 6 m3
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HWO¥ o9 W L 1.0 X 2 2. 0000 m
HiOE He BE O T[1.50 X 1.0 1. 5000 m2
As 7 7 #E ik 1.50 X 0.03 X 1.0 0. 0450 m3
PE FE AL FE[1.50 X 0.03 X 2.35 X 1.0 0. 1058 t
& M K JE[1.50 X 1.80 X 1.0 2. 7000 m3
W B &R IL[1.50 X 0.83 - 0.1425 X 1.0 1. 1025 m3
e M R T 1.50 X 0.87 X 1.0 1. 3050 m3
HoE B M T 150 X 1.0 1. 5000 m?2
= B K A T[1.50 X 0.0 0. 0000 m?2
i & IH T| 1.50 X 1.0 1. 5000 m?2
B 0+ v B T|1.50 X 1.80 X 1.0 2. 7000 m3
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il il H E ¥ o= | B O
B4 oo W L t =3cm 5.40 X 2.0000 10. 80 m
B4 W ¥ T t =3cm 5.40 X 1.5000 8.1 m?2
As T T E#E ik 5.40 X 0.0450 0.2 m3
pE BE A B As 5.40 X 0.1058 0.6 t
B M oK H T 5.40 X 2.7000 14. 6 m3
i B T [ 5.40 X 1.1025 6.0 m3
H B T Ui C-40 5.40 X 1.3050 7.0 m3
HoE B T| UhAKEA  t=10cm 5.40 X 1.5000 8.1 m2
= s Risitfi ¢ =0cm 5.40 X 0.0000 0.0 m?2
18 [ T| FAEARIEA s 13 t=3cm | 5.40 X 1.5000 8.1 m?2
B O+ A& B T 5.40 X 2.7000 14. 6 m3
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HWO¥ o9 W L 1.0 X 2 2. 0000 m
HiOlE He BE T[1.40 X 1.0 1. 4000 m2
As 7 7 i ik 1.40 X 0.03 X 1.0 0. 0420 m3
PE BE AL FE[1.40 X 0.03 X 2.35 X 1.0 0. 0987 t
& M R JE[1.40 X 1.80 X 1.0 2. 5200 m3
W B R IL[1.40 X 0.83 - 0.1425 X 1.0 1. 0195 m3
e M R T 1.40 X 0.87 X 1.0 1. 2180 m3
HoE B M T 1.40 X 1.0 1. 4000 m?2
B OB A T[1.40 X 0.0 0. 0000 m?2
i & IH T 1.40 X 1.0 1. 4000 m?2
oo+ v B T 1.40 X 1.80 X 1.0 2. 5200 m3

¢ 400 AGEE OWiEFE = 0.785X0.426 2= 0.1425
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WO 9 W L t =3cm 14.40 X 2.0000 28. 80 m
WO v o T t =3cm 14.40 X 1.4000 20. 2 m?2
As T T E#E ik 14.40 X 0.0420 0.6 m3
pE BE A B As 14.40 X 0.0987 1.4 t
B M oK H T 14.40 X 2.5200 36.3 m3
i B T [ 14.40 X 1.0195 14. 7 m3
H B T Ui C-40 14.40 X 1.2180 17.5 m3
HoE B T| UhAKEA  t=10cm 14.40 X 1.4000 20. 2 m2
= s Risitfi ¢ =0cm 14.40 X 0.0000 0.0 m?2
18 [ T| FAEAMRIEEA s 13 t=3cm | 14.40 X 1.4000 20. 2 m?2
B O+ A& B T 14.40 X 2.5200 36.3 m3
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WO 9 W L 1.0 2 2. 0000 m
HiOE He BE O T[1.00 X 1.0 1. 0000 m2
As 7 7 #E ] 1.00 X 0.10 X 1.0 0. 1000 m3
PE BE A FE[1.00 X 0.10 X 2.35 X 1.0 0. 2350 t
& M R JE[1.00 X 1.94 X 1.0 1. 9400 m3
W B &R IL[1.00 X 0.32 - 0.0380 X 1.0 0. 2820 m3
f: #ooE  T]1.00 X 1.12 X 1.0 1. 1200 m3
T B o R T[1.00 X 1.0 1. 0000 m?2
= B O A T[1.00 X 1.0 1. 0000 m?2
i & IH T| 1.00 X 1.0 1. 0000 m?2
oo+ U B T[1.00 X 1.94 X 1.0 1. 9400 m3

¢ 200 AGEE OWiEFE=_0.785X0.220 " 2= 0.0380
(+ T) E T gk = 1.72
(,Lﬂ:émﬂwfﬁ) %??%: $ 200 ARE+TIERE = 1.82

fili il H E ¥ o= | B O
B4 oo W L t =10cm 1.82 2. 0000 3. 64 m
Bl B E T t =10cm 1.82 1. 0000 1.8 m2
As T T E#E ik 1.82 0. 1000 0.2 m3
pE BE A B As 1.82 0. 2350 0.4 t
B M oK H T 1.82 1. 9400 3.5 m3
i R T [ 1.82 0. 2820 0.5 m3
H bl T Ui C-40 1.82 1. 1200 2.0 m3
DR T| AWM t=35cm 1.82 1. 0000 1.8 m?2
o ¥ o T KRFEA t=20cm 1.82 1. 0000 1.8 m?2
18 [ T| AR EA s 20 t=5cm | 1.82 1. 0000 1.8 m?2
B O+ A& B T 1.82 1. 9400 3.5 m3




PEeE ¢ TH0 = 0.71 BrE= ¢ 100 | [JEHIE= 1.00 |
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T = 0. 00
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(= 1)
HWO¥ o9 W L 1.0 X 2 2. 0000 m
HiOE He BE O T[1.00 X 1.0 1. 0000 m2
As 7 7 #E {fiik] 1.00 X 0.03 X 1.0 0. 0300 m3
PE BE AL FE[1.00 X 0.03 X 2.35 X 1.0 0. 0705 t
& M R JE[1.00 X 0.90 X 1.0 0. 9000 m3
W H R L[1.00 X 0.42 - 0.0109 X 1.0 0. 4091 m3
e 0 MR T 1.00 X 0.38 X 1.0 0. 3800 m3
HoE B M T 1.00 X 1.0 1. 0000 m?2
= B O A T[1.00 X 0.0 0. 0000 m?2
i & IH T| 1.00 X 1.0 1. 0000 m?2
oo+ v B T[1.00 X 0.90 X 1.0 0. 9000 m3

¢ 100 AGEE OWiEFE = 0.785X0.118 " 2= 0.0109
(- T PEEE LT gk =0.71
CRERIIEHY)  EFE= ¢ 100 AL TR = 3. 19

il il H E ¥ o= | B O
B4 oo W L t =3cm 3.19 X 2.0000 6. 38 m
B4 W ¥ T t =3cm 3.19 X 1.0000 3.2 m?2
As T T E#E ik 3.19 X 0.0300 0.1 m3
pE BE A B As 3.19 X 0.0705 0.2 t
B M oK H T 3.19 X 0.9000 2.9 m3
i B T [ 3.19 X 0.4091 1.3 m3
H B T Ui C-40 3.19 X 0.3800 1.2 m3
HoE B T| UhAKEA  t=10cm 3.19 X 1.0000 3.2 m2
= s Risitfi ¢ =0cm 3.19 X 0.0000 0.0 m?2
18 [ T| FAEARIEA s 13 t=3cm | 3.19 X 1.0000 3.2 m?2
B O+ A& B T 3.19 X 0.9000 2.9 m3
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MEEGHFAEETEST RiE
48 | F300006 | 400 h=200(GX}EO X SUSAAR)L) L4 OyRHt £ 3,546,000 3,546,000
Safvba—bk Ri&
49 | F300007 |400AFH = 17,500 17,500
fHALT RiE (%)
50 | F300011 = 26,500 26,500
T RiE (5%
51 | F300012 | ¢ 400 = 376,000 376,000
T RiE (5%
52 | F300013 | ¢ 400 = 700,000 700,000
ATFULRABREL RiE (%)
53 | F300014 | ¢ 400A (+=8.0mm) a 274,500 274,500
ERAFHFETL RiE (%)
54 | F300015 | ¢ 50 a 7,700 7,700
TSV TOHF T (7.5k) Ri& (5%
55 | F100039 |A100F =17l 3,100 3,100
BRI ESERET Ri& (5%
56 | F300016 | ¢ 400 h=2200 =17l 18,700 18,700
Safrba—tI(HH) Ri& (5%
57 | F300017 |400AF =17l 18,700 18,700
XHRBREL Ri& (5%
58 | F300018 =] 194,800 194,800
IUh—IL FRYLY ¥-1
59 | TG225 |H150 600 X 150 — —
IUR—)L(RTYTEER) f B ¥-1
60 | TG148 |900B 900 X 600 — —
IUR—IL(RTYTEER) EEEH 231
61 | TG128 |900B 900 X 600 & - -
IUR—IL(RTYTEER) EEEH 231
62 | TG129 [900C 900 X 900 & - =
< i—IL KhR 231
63 | TG216 |¢$1120x 150 & — —
ZSMAR(ER EP. 810
64 | F91001 |LSP1~3% 180HLLA t-H — — F&P. 286
ZEMAR(EiHE) #P. 810
65 | F31101 t — — #&P. 286
ZsEREEELM (ERH) P. 819
66 | F31002 |W110~120 X H120~130 X L4000 Z:N — - F&P. 297




EAEMK (MmERLLRRK) EEWIE: No. 1324 6 A2
BEEEH: No. 1,534 6 A&
ES | 2RES & mo-BR % B i;g%’ Byl | BEER KRE AR BHE - EEE W E

TILIEERLM (B#) #P. 819

67 | F300022 |W110~120 X H120~ 130 X L4000 X-H — — F&P. 297

KEX /A TR (EAH) $#P. 819

68 | F31003 |FA%K770~1300 & — — F&P. 297

KEHR—(EH) #P. 819

69 | F30004 |FA%EK770~1300 A-H — — F&P. 297

ZESRERELH (EEXH) i#P. 819

70 | F31102 [W110~120 X H120~130 X L2000 N — — F&P. 297

TILIEEELM (BH) #P. 819

71 | F310022 [W110~120 X H120~130 X L2000 X-H — — F&P. 297

KERX/ A THR—F(EXH) #P. 819

72 | F31103 |EA¥EK1500~2200 X — — F&P. 297

KEHR—(EH) #P. 819

73 | F310044 [FA% £ 1500~2200 X-H — — F&P. 297

KEFSRT (EARH) #P. 819

74 | F31104 | OB E15~19L & — - F&P. 297

KEFSRT(EH) #P. 819

75 | F31005 |Av 0B &E15~19L £-H — — F&P. 297
76
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79
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